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Instructions

® Use black ink or ball-point pen.

® Fill in the boxes at the top of this page with your name,
centre number and candidate number.

® Answer all questions.

® Answer the questions in the spaces provided

— there may be more space than you need.
® Calculators may not be used.

@ Diagrams are NOT accurately drawn, unless otherwise indicated.
® You must show all your working out.

Information

® The total mark for this paper is 80
® The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

Advice

® Read each question carefully before you start to answer it.
® Keep an eye on the time.

® Try to answer every question.

® Check your answers if you have time at the end.
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Answer ALL questions.
Write your answers in the spaces provided.
You must write down all the stages in your working.

1 Workout 6.34 x 5.2

30 co o

&

Ke Co Q0 L 4 (20 0

SoOlowY €0  wL \Coo
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(Total for Question 1 is 3 marks)

.(/) .\h«* 5 a1

2 Expand and simplify (m + 7)(m + 3)

M
ME & S+ Fma 20

v/

(Total for Question 2 is 2 marks)
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AE, DBG and CF are parallel.
DA =DB=DC.
Angle EAB = angle BCF = 38°

Work out the size of the angle marked x.
You must show your working.

DO NOT W

¢

B = ge = 3¢°
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4 Gary drove from London to Sheffield.
It took him 3 hours at an average speed of 80km/h. 4 8

Lyn drove from London to Sheffield.

She took 5 hours. s ) 1—"".0

Assuming that Lyn
drove along the same roads as Gary
and did not take a break,

“‘m' (a) work out Lyn’s average speed from London to Sheffield.

(b) If Lyn did not drive along the same roads as Gary, explain how this could affect your
answer to part (a).

€ e wlg\-ueh'\'m.k-“ae&\ﬂmtgs\ng

@ (Total for Question 4 is 4 marks)
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In a company, the ratio of the number of men to the number of women is 3:2

40% of the men are under the age of 25
10% of the women are under the age of 25

What percentage of all the people in the company are under the age of 25? @

T
@7. of 607. : ’Z‘F?-
IO?- o]C 407 = ""7'

- " 7'

I NN UM

(Total for Question 5 is 4 marks)
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6 The plan, front elevation and side elevation of a solid prism are drawn on a centimetre

grid. : :
o
Q
z
o
B
=
i
W
. Z
L 4
§ s o8
<D \ z
L 3
i front elevartion side eleVﬂtion
In the space below, draw a sketch of the solid prism.
Write the dimensions of the prism on your sketch. @

3(m

m

5cm

(Total for Question 6 is 2 marks)
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7 There are 1200 students at a school.

Kate is helping to organise a party.
She is going to order pizza.

Kate takes a sample of 60 of the students at the school.
She asks each student to tell her one type of pizza they want.

The table shows information about her results.

Pizza Number of students
N\\]Q ham 20

Qe o salami 15
ol

vegetarian 3

QNOTWRITEINTHISAREA

margarita 17

Work out how much ham pizza Kate should order.
Write down any assumption you make and explain how this could affect your answer.

Swrl‘,?— JO '(‘M = 200

,200% 8o = 20 @
-le lam Pn—% 20 %20 = 00 lou-rrsr

pot alk the 100 studuts Mlgld'

go +o +he porty ok Lesy @)
P.W.M%m

(Total for Question 7 is 3 marks)
Y We ae &.ssum'iwg Hiok the
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8 Here is a parallelogram.

(5x—20)°

Work out the value of x and the value of y.

2x +43 + 4y-SX=I80 o

f
£

R R R R R R S R R RS R IR

%204 49-5%el80

4‘3—1\0:  To)
+lO 42O

l-ta:.-,'lﬁo
9= 204
:gO J-l.
Sobs %-?I:lzﬂ y-.. 00"

(Total for Question 8 is 5 marks)

®
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LthO-sz. 137
200 -3Xx= 137
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| 9 Work out the value of (9 x 10-%) x (3 x 107)
’5 Give your answer in standard form.
h—

Ax 3 =27

/E -q+1
< z o™

N TH{SARE;DQ

xlp'= lo

@

lo

(

.,

00 = 27000 = 2xl0”

_ v'|¢>
17 & \é - 1-. (Total for Question 9 is 2 marks)

DO NOT WRITE

1
10 (a) Write down the value of 642
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11 One uranium atom has a mass of 3.95 x 107 grams.

(a) Work out an estimate for the number of uranium atoms in 1 kg of urani
3
lkg = locograms = | 107 ¢

-22
4 » |O

mw 83

Ix10° 2 o CPDZ- (-22)

| » lo>

L
q

X

Ly lg2*

= 0.285 x 10

(b) Is your answer to (a) an underestimate or an overestimate?
Give a reason for your answer.

.............................. Wnderestimede

in odlerominater of fradloe\.

= 0.4S x 10

Dnder  eshivede. os awmboer  rouadud

(Total for Question 11 is 4 marks)
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| DONOTWRITEINTHISAREA =5

1a

force
12 Pressure =———
area

Find the pressure extered by a force of 900 newtons on an area of 60cm?.

Give your answer in newtons/m>.
I 2
Lo twi “Tlovo 5 L.006M

00, = 900000 z 300,000
0:006 2 2

e

(Total for Question 12 is 2 marks)

l 50 0 D newtons/m?

13 Rectangle ABCD is mathematically similar to rectangle DAEF.

< 10cm =
A E B
4Im
D F- c
AB =10 cm. _B__E_ =4 = 0.8
AD =4 cm. u ID

Work out the area of rectangle DAEF.

ARE= o
10

EA= b

F=l-bX @
(-\w.no's bAE 64"‘"

(Total for Question 13 is 3 marks)
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| S hl Gcoiesh (-1 ¢ \N (Total for Question 14 is 5 marks)

14 Ben played 15 games of basketball. !
Here are the points he scored in each game.

17 18 18 18 19 20 20 22 23 27 28 28
(a) Draw a box plot for this information. CD\M um"
Iq b 4 \w
&
_ ¥y
l‘—OH’CU“‘) o F S8 8PS Hi
SHECF ams e - TARA AR SRR - uaea s CGBRESL:

corredt box plot €D

Sam plays in the same 15 games of basketball.

The median number of points Sam scored is 23
The interquartile range of these points is 12
The range of these points is 20

(b) Who is more consistent at scoring points, Sam or Ben?
You must give a reason for your answer.

e = H\Su\ scuc-lowts\ Scoﬂ. 2-%"“1 ’

n._has Scored move eenus\- 0
\-\\s 'LG.& % \ower ond Ve t’:ﬂs-& W smdl&r

sprecd ouwd @
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15 In a shop, all normal prices are reduced by 20% to glve the sa]e price.

The sale price of a TV set is then reduced by 30%.

Mary says, )
“30 + 20 = 50, so this means that the normal price of the TV set has been
reduced by 50%.”

Is Mary right? i

You must give a reason for your answer.

loo”. — .‘Lo'/. =80/ = E‘{g:—

owo-j = 0.8 = 34 =567

(Total for Question 15 is 2 marks)
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16 Factorise fully 20x>—35

S5 4x’-
.5 (21.4) (IX-H) Al

(Total for Question 16 is 2 marks)

a2bi (a-b)(a+b

2a+7

a+3gr

17 Make « the subject of

(Total for Question 17 is 3 marks)
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18 Solid A and solid B are mathematically similar.
The ratio of the surface area of solid A to the surface area of solid B is 4:9

The volume of solid B is 405¢cm?’.

Show that the volume of solid A is 120cm?’.

MA L-s;_-,J,E ;%‘

S
27

"

N:S+f = ( %)3

Volume = g:}KQOs'S &
AL = 120Mm

(Total for Question 18 is 3 marks)

19 Solve x2>3x+4 \1¢

::."—?Jac-—q- 20

/4
L rixxmi)r0

{ﬂ.t-

(Total for Question 19 is 3 marks)
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(a) Enlarge shape A by scale factor —2, centre (0, 0)
Label your image B. .
(2)

(b) Describe fully the single transformation that will map shape B onto shape A.

Zt is on Colowgement by o scale fador -%
(1)

CQ\A"‘"& C o' O ) (Total for Question 20 is 3 marks)
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21 Here is a speed-time graph for a car journey.
The journey took 100 seconds.

+

p=—--

speed
(m/s)

B

0 20 40 60 80 100 120
time (s)

(a) Work out the value of V. c-?u( v e .

©) 4orive, g 1350
® - V = EXY-X. X

- [{7X-) l
= 29 Mg
(b) Describe the acceleration of the car for each part of this Jowé aa 3.5/2 O)
5**3 e aelecabon s 1.2Sm)Ss

15\"“14“‘-‘0"\/5"(--\&&-'\\'
1™ shae G - CibT ms  Contimar D

_(Total for Question 21 is 5 marks)
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The car travelled 1.75km in the 100 seconds. D\'.'h" - ﬁ rea L\ﬂdew m .
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The table shows information about her results.

Length of time (¢ hours)

Frequency

0<1<10

/

6

1 t<15

8

<20

15

0
15
20

NN |IA

<40

5

| DONOTWRITEINTHISAREA

Frequency
density

&

16

Bhavna made some mistakes when she drew a histogram for this information.

22 Bhavna recorded the lengths of time, in hours, that some adults watched TV last week.

14

12

10

Length of time (¢ hours)

Write down two mistakes Bhavna made. .
T Fregueacies wed mskead op calmlehng
\Frquene, deasiHes.

bar  \as .,

(Total for Question 22 is 2 marks)
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23 Show that can be written as 2 — /2

1
14+

N

l x_{?._((_:_ﬂ 2

AT TR RSO T

(l-r.."i._;') \F 2 Jr + |
- N (-) (Ci)

09 (T2 )32 )
2 -0 2-% (¢Y)
2 -\ '

¥ onswW iS gqiven ’ _;Z.;J;v:__

# & &EB(A‘.Q‘* (Total for Question 23 is 3 marks)
uork‘ma N b Showan |

\ J 5N
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24 John has an empty box.
He puts some red counters and some blue counters into the box.

The ratio of the number of red counters to the number of blue counters is 1; 4
Linda takes at random 2 counters from the box.

The probability that she takes 2 red counters is I—%

How many red counters did John put into the box?

L s m e
(Total for Question 24 is 4 marks)

. -1 < @
$x2xl =6 (PY

A
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25 A(=2, 1), B(6, 5) and C(4, k) are the vertices of a right-angled triangle ABC.
Angle ABC is the right angle.

Find an equation of the line that passes through 4 and C.
Give your answer in the form ay + bx = ¢ where a, b and ¢ are integers.

pupandicylor = product & @pchents = %
e_m & AB:=S5-1 . & (Q\)

(Total for Question 25 is 5 marks)

= 1— -!-l- TOTAL FOR PAPER IS 80 MARKS
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